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[image: image2.png]import csl.Keyboard;

public class Demo {

public static void main(String(] args) {
Systen.out.print (“Enter an integer number: “);
int yourliumber = Keyboard.readInt ) ;

while (yourfumber = 13] {
Systen.out.print ("That's not the right mumber, try again: “);
yourlumber = Keyboard.readInt () ;

)

Systen.out.println("\n¥0U GOT IT, GOOD JOB!™
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[image: image5.png]import csl.Keyboard;
public class Demo {

public static void main(String(] args) {
int yourtiumber ;

a
Systen.out.print (“Enter an integer numbe

yourliuber = Keyboard.readInt () ;

1f (yourtuber 1= 13) {
Systen.out.println("That's not the right number!");

)
} while (yourBumber != 13);

Systen.out.println("\n0U GOT IT, GOOD J0B!");
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[image: image8.png]import csl.Keyboard;
public class Demo {

public static void main(String(] args) {
Systen.out.print (“Enter an integer number: “);
int max = Keyboard.readnt () ;
Systen.out.println("Here are all of the even number less than " + mex):

for(int 1=0; i < max; i+ {
Systen.out.print(i + ", "]

Systen. out.println("\Bye nov’);
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[image: image10.png]import csl.Keyboard;
public class Demo {
public static void main(String(] args) {

Systen.out.print (“Enter an integer number: “);
int yourliumber = Keyboard.readInt ) ;

for( ; yourNumber != 13; yourHumber = Keyboard.readInt(] ] {
Systen.out.print("That's not the right number; try again: "):

Systen.out.println("\n0U GOT IT, GOOD J0B!");
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	operator
	meaning
	example
	relative precedence

	arithmetic operators

	()
	parentheses
	y = (x + y) / 2
	1

	++
	prefix or postfix increment
	prefix: ++x ;  postfix: x++
	2

	--
	prefix or postfix decrement
	prefix: --x ;  postfix: x--
	2

	* , / , %
	multiply, divide, remainder
	2*2;  2/2;  2%2
	3

	+ , -
	add, subtract
	2-1;  2+1
	4

	=
	assignment
	y = 3
	5

	+=
	addition then assignment
	y += 3
	5

	-=
	subtraction then assignment
	y -= 3
	5

	/=
	division then assignment
	y /= 3
	5

	*/
	multiplication then assignment
	y *= 3
	5

	%=
	remainder then assignment
	y %= 3
	5




The while loop





Looping Statements





The while loop is similar to the if statement both in syntax and in function.  Other than the replacement of if with while, the difference is that the body of the while loop is repeatedly executed “while” the test condition is true.





Three steps to writing a successful while loop:


1. Initialize the variable(s) to be used in the test condition.


2. Formulate the test condition as a boolean expression using the variable(s) initialized in step 1.


3. Assure that the variable(s) used in the test condition are updated in the body of the loop.





The do while loop





In a do while loop, the test condition is evaluated after the body of the loop has been executed once.  In some situations, this can save code by eliminating the need to initialize the test condition variables prior to the loop. 








The for loop





As demonstrated above, the for loop is typically used for “counting”, i.e., to execute the loop body a fixed number of times.   The head of the for loop contains 3 separate statements: (1) the test variable initialization statement, (2) the test condition, and (3) the test variable update statement.  Semi-colons are used to separate the statements.  The statements are executed in the order depicted in the flowchart above: the initialization statement is executed only once at the start of the loop prior to evaluating the test condition, the test condition is evaluated prior to executing the body of the loop, and the update statement is executed after the body of the loop and prior to evaluating the test condition.





The above example is a typical application of a for loop, but a for loop can be used where ever a while loop can be used, and vise versa.  Below is an example of using a for loop in place of the while loop in example 1 of this handout.  Note that, as demonstrated below, any of the three statements in the head of the for loop can be omitted if desired.





More operators





Post- and pre-incrementing are a kind of short-hand: both x++ and ++x are equivalent to x=x+1.  The distinction between pre- and post-incrementing is irrelevant unless these operators are used in a larger expression (i.e., there are other operators in the expression).  In the case of additional operators, pre-incrementing means increment the variable first, and then use the incremented variable in the larger expression.  Post-incrementing means use the variable in the larger expression, and then increment its value.





The following operators are also short-hand:


y += 3 is equivalent to y = y + 3


y -= 3 is equivalent to y = y - 3


y /= 3 is equivalent to y = y / 3


y *= 3 is equivalent to y = y * 3


y %= 3 is equivalent to y = y % 3











